Math 9 Chapter 3 - Rational Numbers Review Name: t‘gbél/ '

Answer all questions in the space provided. Show your work wherever possible.

LEARNING OUTCOME: 3A: I can compare and order rational numbers,

. o 2 )
i Circle aHl of the rationat numbers in the list @@

2. ldentify the number that is NOT equal $a the other three numbers.
i Write the rationat numbet represented by cach letter on the number ling, as a fraction.
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5. Circle ali of th: numbers in dhe list that are between r and E? ';, %13

6. Which rational number is greater? Explain how you know: 1.3, @
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LEARNING OUTCOME: 3B: I can add rational numbers.

7. Add.
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8. Determine this sum, (2.5} + (6.1}
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o, A sludent first borrowed $40.25, then borrowed another $15.75 from his father, -
He then paid back $20.75. How much does he still awe his father?
$ He still owe

—4p, 25~ ISVIS 490,7€ = — 35,2
40.25- 15715 420,75 = — 3525 §35.25

LEARNING OUTCOME: 3C: I can subtract rafional numbers.

1. Subtract,
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11. Determine this dilference. 3.7~ (=5.9)
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LEARNING OUTCOME: 3D: I can multiply rational numbers.

12 Maltiply.
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13. Mrs, Lee™s has $35 in her wallet. She decides to buy 3 new pyjama outfits for her daughterat a

cost of $14 each.
a. Write a multiplicalion staternent with rational aumbers to determine the COST of buying

the calculators,
1413 =4y
b. How much does Mrs. Lee’s have left in her wallet after paying for the pyjamas.

She doesn't have Loy hfs buy 3 Prjamas. | She G ‘””%r }au}}-'
2, Sh woltlel have %‘»S_'({W*") >/ $7 (e]cf e her willet .

LEARNING DUTCGME 3E: I can divide ratienal mumbers.

14. Divide,
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LEARNING QUTCOME: 3F: I can use order of operations (BEDMAS) with rational numbers.

15. Simplify. Show all your steps,
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LEARNING GUTCOME: CURRICULAR COMPENTENCIES
16. Which tcmperature is warmer, -_f- [1C or -(.3°C? Explain.
(= ~0atr03C 4| ~05C

| B
17. The table inciudes the melting points and the boiling points of six elements known as the noble

gases.
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a) Which noble gases have a melting point that is

Jess than the melting point of argon?

H(Jlmmf Meoin

b) Which noble gases have a boiling poinl that is

greater than the boiling point of krypton?

Hobils Gas - Bolig Pobit €}
Argan —139. X — 185
Helium ¥ —laka

Toeon M8 ET —243.91
heypran —15%5.6 i3 |
Hadem —7L.0 —aL.%
L‘-{rnqm 1AL —107.1
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c) Arrange the boiling points in descending order.
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18. The table uses positive numbers to show how many hours the time in a location is aheaxil of 1‘hc
time in London, England, Negative numbers show how many hours the time is behind the time in
London.

""" Ciosation L[ YineZons |
Alice Springs, Australia +9%
Brasdan, Manitoba —& %)
Chatrham Istands, New 23

Zealand 4

fsranbul, Turkey +2
Kachmandu, Nepat +5 :1 A
Lendon, England f

Mumbai, India + 5—!’ b
5. John's, Newfoundiand _a

and Eabrader 2 0
Tokya, Japan +9 4
Victoria, Brtish Cohunbia -3 -

a) How many hours is the ime in St John’s ahead of the fime in Brandon?
Jd f
=l (-6) =356 2% R s

b) How many hours is the time in Victoria behind thc time in Mumbai?

-S_;\' (:'S";L,) "15} 10UY S

¢) Betermine and mtcrprct the time difference between Tok:fﬂ and Kathmandu.

3# (ﬂi*a-:‘k 5 34{5 howrs ahﬂw[ “’P !211’1}}1:1}1([(4

d) Determine and mt{:rprct the time difference between Chatham Islands and St. John’s.
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e) In which localion is the time exactly halfway between the times in Istanbul and Alice ah"“"{ ’P éf Jlbl“i
Springs?
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19. Can the difference ol lwo rational numbers be more than both of the rational numbers? Explain
using examples in fraction form.

Yes,  3- (T;):. 33 =]

v+ 8 175



20. Taj has three scoops for measuring flour. The largest scoop holds Eétimas as much as the

smallest one, The middle scoop holds 1% limes as much as the smallest one. Describe a way in

which Taj conld measure each of the foltowing quantities if he can only use full scoops.

L[.
a) @—tﬂncs as tnuch as the smallest scnup holds
2gHZ 2G4y - 25 = ‘g
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b) % as much as the smallest scoop holds
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21. Kwasi said that he ignored the fractions when he decided that -2 5 is smaller than —1 o Is he
correct? Explain his thinking.
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22. Add one pair of brackets to the left side of each equalion to make it a true statement,

8) 3.5 x@.l —3.%2.3 =07
h(z.s FAT) + HI}BX 1.1)=429

) ~5.5 - (-6.5) {24 + (—1.1j= 0.5





